Step3 Cleaning and care

Daily cleaning and care are required in order to keep the product shining and

properly working.

Clean it with water and dry it with soft cloth.
Clean the product with gentle liquid or glass cleaner.

Don't use acid cleaner.

Don't clean with abrasive material, abrasive paper or knife.

Step4 Partslist

NO.

PART NAME

Body

Washer

Flange

Eccentric nut

Shower hose

Shower

N[O M| W[IN]|—

Shower holder

RECOMMENDED TOOLS

A »‘/ S

Adjustable Wrench Teflon tape

Allen key

WARNING:
Please keep the tool for future use!

Attention:

for easy installation, you will need:

1.Toread all the installation instruction completely before beginning.
2.Toread all the warning, attention and maitenance information.
3.To purchase the proper supply lines.




Step1 Faucetinstallation

150+20mm
COLD
G1/2" Male
HOT/%: 900mm~1000mm
G1/2" Male J G1/2" Female

G1/2" Female

Connect eccentric nuts with teflon tape to outlets. Assemble flange #3 to eccentric nut #4. Then Assemble the shower, washer and shower hose to
The distance between 2 outlets should be around assemble body #1 with washer #2 to eccentric faucet.

150 mm. The distance between outlets and ground nut #4 by wrench.

should be 900mm-1000mm. Note: Hot water supply

is on left side, and cold water supply is on right side. Step 2 Usage

How to operate the handle
1) Raise the handle up for opening water ; push it down for close;
n 2) Turn the handle to the left to increase hot water flow for higher
water temperature,and lower water temperature by operating reversely.

<=
/
gy — / ) N
e g / N
(N ~ )
Open
Left Right
L Y ) Hot water Cold water
Put the plastic holders for screw into the holes with Fix the screws to fixation base by screw driver. 4
hammer.
7 & —
-
& — //
Diverter \_ Hand shower
N

\
"

\_ Diverter )




	页 1
	书签1F680C53　　　　　　　　　　Step 3     Cleaning and care
	书签84CAF420　　　　　　　　　　Daily cleaning and care are required in order to keep the product shining and 
properly working.


 
	书签CFCBB594　　　　　　　　　　1
	书签2085B01D　　　　　　　　　　2
	书签8E5FA443　　　　　　　　　　3
	书签41E79E46　　　　　　　　　　4
	书签32011A45　　　　　　　　　　Clean it with water and dry it with soft cloth.
Clean the product with gentle liquid or glass cleaner. 
Don't use acid cleaner. 
Don't clean with abrasive material, abrasive paper or knife.
	书签EAE231CE　　　　　　　　　　Step 4     Parts list
	书签555D0A43　　　　　　　　　　Channel Locks
	书签EB3CE37E　　　　　　　　　　RECOMMENDED TOOLS

	书签4B155091　　　　　　　　　　Attention:
for easy installation, you will need:
1.To read all the installation instruction completely before beginning.
2.To read all the warning, attention and maitenance information.
3.To purchase the proper supply lines.
	书签3E3F750D　　　　　　　　　　WARNING:
Please keep the tool for future use!
	书签B00F7D04　　　　　　　　　　Goggles
	书签C27FCA49　　　　　　　　　　Adjustable Wrench
	书签27C61027　　　　　　　　　　Allen key
	书签EBDDD0E3　　　　　　　　　　Teflon tape
	书签6E81E52B　　　　　　　　　　Screwdriver
	书签6D357880　　　　　　　　　　5
	书签B2A4EE0B　　　　　　　　　　6
	书签CA9874A6　　　　　　　　　　1
	书签83FCF31C　　　　　　　　　　3
	书签301B0CEB　　　　　　　　　　2
	书签619CE24C　　　　　　　　　　4
	书签D28C79D0　　　　　　　　　　PART NAME
	书签D07125EA　　　　　　　　　　NO.
	书签6FD45B51　　　　　　　　　　1
	书签2D72326B　　　　　　　　　　2
	书签5A8A9D87　　　　　　　　　　3
	书签9AFF83C2　　　　　　　　　　4
	书签E1593D94　　　　　　　　　　5
	书签7259D1E1　　　　　　　　　　6
	书签88569AD9　　　　　　　　　　Body
	书签A00320EF　　　　　　　　　　7
	书签06BC170F　　　　　　　　　　Eccentric nut
	书签924C0A0C　　　　　　　　　　Flange
	书签29BB2129　　　　　　　　　　Shower
	书签A8B6D61C　　　　　　　　　　Shower hose
	书签3F7A6BC0　　　　　　　　　　Shower holder
	书签C35D4810　　　　　　　　　　Washer
	书签961DC937　　　　　　　　　　7

	页 2
	书签354E93AB　　　　　　　　　　Step 1     Faucet installation
	书签21E2AFDF　　　　　　　　　　1
	书签3F5C376D　　　　　　　　　　2
	书签F5F66A53　　　　　　　　　　150+20mm
	书签EA096EF8　　　　　　　　　　900mm~1000mm
	书签F6E4B6D3　　　　　　　　　　HOT
	书签22546794　　　　　　　　　　COLD
	书签473A0456　　　　　　　　　　5
	书签BB5F625A　　　　　　　　　　Connect eccentric nuts  with teflon tape to outlets. 
The distance between 2 outlets should be around 
150 mm. The distance between outlets and ground 
should be 900mm-1000mm. Note: Hot water supply
 is on left side, and cold water supply is on right side.
	书签8B2F4C5A　　　　　　　　　　Assemble the shower, washer and shower hose to 
faucet.
	书签FCD33F43　　　　　　　　　　G1/2” Male
	书签08149FB8　　　　　　　　　　G3/4” Female
	书签670CA000　　　　　　　　　　G1/2” Male
	书签F0DB3F46　　　　　　　　　　G1/2” Female
	书签46B33FAD　　　　　　　　　　G1/2” Female
	书签4DC03C70　　　　　　　　　　G1/2” Male
	书签B14887A8　　　　　　　　　　3
	书签C8D76921　　　　　　　　　　4
	书签36A22BFF　　　　　　　　　　Put the plastic holders for screw into the holes with 
hammer. 
	书签96FC814A　　　　　　　　　　Fix the screws to fixation base by screw driver.
	书签D0D02370　　　　　　　　　　4
	书签C4164D18　　　　　　　　　　2
	书签B0645B50　　　　　　　　　　1
	书签83245E30　　　　　　　　　　3
	书签546BBF6F　　　　　　　　　　Assemble flange #3 to eccentric nut #4. Then 
assemble body #1 with washer #2 to eccentric 
nut #4 by wrench.
	书签F4F3A611　　　　　　　　　　Step 2     Usage
	书签82C5CE8C　　　　　　　　　　How to operate the handle
    1）Raise the handle up for opening water；push it down for close;
    2）Turn the handle to the left to increase hot water flow for higher
          water temperature,and lower water temperature by operating reversely.
	书签10AD8690　　　　　　　　　　Close
	书签F441DF58　　　　　　　　　　Open


